MOUNTING COMPONENTS AND HOLDERS

A series SINGLE HOLDERS

MOUNTING COMPONENTS AND HOLDERS

A series SINGLE HOLDERS with double threaded screw

Material: PP .
A Col Material: PP
olour: white ‘
A Colour: white
¢ [
Dimensions Packing Dimensions Packing
[mm] unit Bulk Pallet: [mm] unit Bulk Pallet:
(6] Product code Box packaging 1,2x0,8x2,0 m (4] Product code Mounting Box packaging 1,2x0,8x2,0 m
A B © [pcs]  dimensions [pcs.] [pes] A B © [pcs.] dimensions [pcs.] [pcs.]
[mm] [mm]
8 9-9700-008-00-01-01 23 15 16 100 150x105x105 2700 67500 8 9-9703-008-00-01-01 23 15 16 M6x55 010 100 150x105x150 1800 45000
10 9-9700-010-00-01-01 23 15 16 100 150x105x105 2700 67500 10 9-9703-010-00-01-01 23 15 16 M6x55 010 100 150x105x150 1800 45000
12 9-9700-012-00-01-01 23 20 16 100 150x105x105 2700 67500 12 9-9703-012-00-01-01 23 20 16 M6x55 010 100 150x105x150 1800 45000
15 9-9700-015-00-01-01 27 23 16 100 150x105x105 2700 67500 15 9-9703-015-00-01-01 27 23 16 M6x55 010 100 150x105x150 1800 45000
18 9-9700-018-00-01-01 33 25 16 100 150x105x105 2700 67500 18 9-9703-018-00-01-01 33 25 16 M6x55 010 50 150x105x150 900 22500
22 9-9700-022-00-01-01 39 30 16 50 150x105x105 1350 33750 22 9-9703-022-00-01-01 39 = 30 16 M6x55 010 50 150x105x150 900 22500
28 9-9700-028-00-01-01 50 38 16 50 150x105x150 900 22500 28 9-9703-028-00-01-01 50 @ 38 16 M6x55 010 50 150x105x150 900 22500
35 9-9700-035-00-01-01 55 47 16 25 150x105x150 450 11250 35 9-9703-035-00-01-01 55 47 16 M6x55 010 25 150x105x150 450 11250
A series SINGLE HOLDERS with wall peg A series SINGLE HOLDERS with sleeve
@ 8-35 @ 8-35
Material: PP A Material: PP
A : .
Colour: white 1 Colour: white
M c
C .
Bushing: M6
Dimensions Packing Dimensions Packing
[mm] unit Bulk Pallet: [mm] unit Bulk Pallet:
(6] Product code Mounting Box packaging 1,2x0,8x2,0 m (4] Product code Bushing Box packaging 1,2x0,8x2,0 m
A B C [pcsl] dimensions [pcs.] [pcs] A B C [pcs] dimensions [pcs.] [pcs.]
[mm] [mm]
8 9-9701-008-00-01-01 23 15 16 3,5x30 06 100 150x105x105 2700 67500 8 9-9704-008-00-01-01 23 15 16 M6 100 150x105x105 2700 67500
10 9-9701-010-00-01-01 23 15 16 3,5x30 06 100 150x105x105 2700 67500 10 9-9704-010-00-01-01 23 15 16 M6 100 150x105x105 2700 67500
12 9-9701-012-00-01-01 23 20 16 4x45 08 100 150x105x105 2700 67500 12 9-9704-012-00-01-01 23 20 16 M6 100 150x105x105 2700 67500
15 9-9701-015-00-01-01 27 27 16 4x45 08 100 150x105x150 1800 45000 15 9-9704-015-00-01-01 27 23 16 M6 100 150x105x105 2700 67500
18 9-9701-018-00-01-01 33 33 16 4x45 o8 100 150x105x150 1800 45000 18 9-9704-018-00-01-01 33 25 16 M6 100 150x105x105 2700 67500
22 9-9701-022-00-01-01 39 39 16 4x45 08 50 150x105x105 1350 33750 22 9-9704-022-00-01-01 39 = 30 16 M6 50 150x105x105 1350 33750
28 9-9701-028-00-01-01 50 50 16 4x45 08 50 150x105x150 900 22500 28 9-9704-028-00-01-01 50 @ 38 16 M6 50 150x105x150 900 22500
35 9-9701-035-00-01-01 55 55 16 5x60 210 25 150x105x150 450 11250 35 9-9704-035-00-01-01 55 47 16 M6 25 150x105x150 450 11250

Capricorm / PRODUCT CATALOGUE PRODUCT CATALOGUE / Capricom



